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-
Last month
Find 3/4 £80

Find 2/3 of 180

.

-
Last half term

Solve these using BIDMAS

24-(6x4)= ) 100x (7+2)= 7
99+ (22-11)= I 26 + 3x5-1= -
.
-
Last term

What is LCM of 4 and 6?
What is the HCF of 64 and 1007

Find all the common factors of 12 and 48
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-
Last term

Calculate these using a formal written method

349 1740+12 75,243 75,243
X 56 + 13,879 - 13,879
\ I I
( AW 4
Negative Numbers L Using known facts e
-449= 21-24= Use your knowledge of this known fact to calcu-
late the others.
15-23= 97-100= 3x7= 0.7x3= 0.7x0.3=
-65+30= 0-(-9)= 0.3x7= 0.07x3= 7x0.03=
\ J \




